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�������� ����� �������� ��� �������	 �� ��� ���� ����� ��� ���� �� ��������

��������� �� m = gm(s) = kms
em �� ����������� ��� �� �� ������ ���� �� �������������� ���������

���� ��  ! ������ ����� ������� ����������" #� ���� ����������� ���� ��� ���
��� ��� �  "���

�$������ %& �� ��� ���� ���� �� ��������� ���� ����'�� �� s ������� �������
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+em
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(T )seμ��� − kmsem
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�� ���� ����� ∂R∗/∂s > 0 ��� ��� ������ s ��� �� ���� ������� ��������� �� ����� �����" )�������
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s��� =

(
fμ���

(T )

km

) 1
em−eμ���

�&%!

�� eμ���
< em"���

�� em < eμ���
− eH���
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�� R̃∗ ��� ���	���	� �� R∗
���

� ��������	 
�� ��
������
� ���
���������

��� �
� �� R∗ ��� G ���� �� ��� ���� ���� �� ��������� ��� ������������� ����� ������
���

�� ��� �

������� ���� �������	�� �	� 
�����
 ���
 
���
 ������ �����
� ����� ���	����
 �	����


������� �� � ���
���� 	���
 ����	�����

� �� ��
��� ��� �

������� ����	������ �
��� ����

����� ��	�� ������� ��	 � ���� 	���� �� ��	�����	
 �������

��� ������������ 	��
���������

�����

  ���	�
 �� ��� !"#$"% �	����� �������	��
 �� ��� ��	� y = kse ��	 y = Q��� � μ��� ���	

H��� ��� V��� � ������ �
������
 ��� ���&����� ����	���
 ��	 log10(k) ��� e �� ��� ��
�

 ���'��


&����� ����	���
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�����	� �		�	
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����� ��	�� 	��� ��� ��	�����	
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m = 0.01 exp(Em(T−
T0)/(kTT0)) Em = 0.1781

m
m

G(s , s , T1)/G(s , s , T2) T1 = 20◦ T2 = 10◦ T1 = 23◦

T2 = 20◦

km = 0.0001, 0.001 0.02


